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HUMCADAUMH 3ACAT JAAPTbIH A9PI'3439X
BUEUKIH TAMUP, CITOPTHIH XOPOOHBI ZAPTbIH
TYHLIAAA

/y’/OHbI 4 ayraap ayraap &4/ Y raaubaatap x0T
capoin & fubl ez0p

TYIAAX Hb:
ToMmia5H AByynax tyxaft.

Hor. YnaandaaTap XOTHH 1998 OHH TamyYpu#tH ecBep, HacaHQ
XYporyxuity aBapra majarapyynax ToMHIS2HEAT I999 OHH I-~p CapHH
30-3I-HH expYYHESX YHumacHuE COErn aMpanTHH XYP33nbHTHIAH MeceH
TyaryypuH randafin asyyncyrait. '

Xoép. TomuosHuft Tamupuuy,nyyraguftl marHany 30pUynaH
188500 Terperufir crmopTHH apra Xx3MEosHHE 3apHEaac TapraxHT
Ha-6o C.HapaHOauar-T 3eBmeepcyYrsit,

TypaB., TommasHuft TecBufir HATHYI99p, TOHMILIHUHAT 30XHOH
AByynax myyramu#in zemnenufir xoépmyraap xéBcpanTaap TyC TyC

Garancyrait.

JlepeB. ToMIS3HAAT Y391 CypTan 30XuOH CafirfynanTHH eHIep
XOMED9HT AByyBaxHur myyrunufiH seBnenn maanracyrafl.
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Hefienonnity 3acar maprul goprandx Cueultn
T@Mup CIOPTHH XODPOOHH {lapTHH o
TOOT TymaanHH I-p XaBcpanrT.

Har. TommesHu® TeceB

I. Tavupumud marHan / ecsep I5-I16,I7-I8 nacaap/

I-p Gaftp I7 X 2000 Ter = 54000 Ter
2-p I7 % 1500 Ter = 25500 Ter

3-p I7 x I000 Ter = I7000 Ter

- 6¥rx = 76500 Ter
Hacaum xypsruun

I-p Gaftp 8 x B000 TeT = 24000 rer
2-p . 8 x 2000 Ter = I6000 TorT
3-p 8 x 500 Ter = T2000 T
éyrm 52000 Ter

—

2. lDyyramu#te maruaxn
I5 x 2 x 2000 Ter = 60000 Ter
Huftr myE  I88500 Ter
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Heftcnonulty sacar JapTHH ISpTamsx OCueunftn
TaMHD CIIOPTHH XOPOOHH H&PTHH 24/ TOOT
TymaajnHH 2-D XaBCpPanT.

Hor, ToMmodHER myyTumufts GYpoOAISXYYH ¢
' ' $
I. I.02HK e/myyrv yne BTCYToB .
2. Y.0aupdar B/6 yne T3TT9BPT
3. JamHam myyrda yne CBI
4. Cymssa - = ync BICYTeB
5. ©Bonxm ="' yaBC -
6. Haumcpa# "' yne ToTI9BYPT
7. lorzonmaa - yic 56-p CYPTYyTb
8., DBaacaHcypsH : - yne ~ TeB
9. Ipa i, - yacC - ‘
I0 . BaacaHmopx - yac Ten 1 d
II. HapaHmausr =" yne BTIC : P
I2. Haumamaa M- yne TIX
I3. TanGonx " ync CBI
T4, OwupcyYx =" . yne B3I
I5. Jlammopx - ync YCAX
BoroBepyyncal &!?‘—W C.JlypoBmopx
G




